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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech I Year II Semester Supplementary Examinations July 2021
CHEMISTRY
(Common CE, EEE & MECH)

Time: 3 hours
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PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

Dctine effective nuclear charge.
What is meant by Anodic inhibitors?
Define hard water and soft water.
Define conducting polymers.
What is finger print region? Mention its importance.

PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain pi- molecular orbitals of benzene with neat sketch.
OR
Describe the trends ot atomic, ionic sizes of S, P, d and f block elements.
UNIT - 1I
Define Entropy. Entropy changes in reversible and irreversible process.
OR
Define corrosion ? Discuss in detail about chemical or dry corrosion.
UNIT - TIT
Describe briefly boiler troubles and their treatment?
OR

Lxplain with a neal skelch the various sleps involved in municipal solid
water treatment

UNIT -1V
Briefly outline the various methods of moulding process.

OR

Define addition and Elimination reactions.
Explain the addition and elimination reactions with examples.

UNIT -V

R18

Max. Marks: 60

10M

10M

10M

10M

10M

wasle 10M

10M

SM
5SM

Explain the working principle of atomic absorption spectrometer and How will 10M

you determine the nickel using by AAS.
OR

Discuss the principle, instrumentation and applications of Transmission 10M

electron microscopy
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Code: 18CS0501

Time: 3 hours

10.

11.

(b)
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(b)
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(b)

(a)
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(@)
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(a)
(b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
(AUTONOMOUS)
B.Tech I Year II Semester (R18) Supplementary Examinations July/ Aug 2021
PROGRAMMING FOR PROBLEM SOLVING
(CSE & ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

What is flowchart? Give example.
Define exit and return statements.
What is multi-dimensional array?
How can you compare two strings?
What are the different file operations?

PART- B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1
Write an algorithm to find the roots of quadratic equation.
Explain switch case statement with an example program.

OR

What is variable? Give the rules for variable declaration.
Explain about type conversion in C.

UNIT - II
Write and explain syntax of “for” loop.
Write a C program to generate ‘n” Fibonacci number.

OR
List and explain loop control (or) iteration statement in C.
List and explain unconditional statement in C with examples.
UNIT - III

How to declare and initialize a Three dimensional array? Discuss with examples.

Write a C program to find the smallest element given in array of elements.
OR
Discuss about the different categories of functions.
Write a Program to explain call-by-reference parameter passing techniques.
UNIT - IV
Explain the concept of functions returning pointers with example.
Write a C program to read and print an array of elements using pointers.
OR
Explain declaration and initialization of array of strings.
Write a C program to find whether a given string is palindrome or not.
UNIT -V

Define structure and write the general syntax for declaring and accessing members.

How to copy and compare structure variables? Illustrate with example.
OR

Write a C program to display the content of the file in reverse order.

Explain enumerated data type with example.

R18

Max. Marks: 60
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Q.P. Code: 18ME0302

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
(AUTONOMOUS)
B.Tech I Year II Semester Supplementary Examinations July-2021
ENGINEERING GRAPHICS & DESIGN
(Common to CE, EEE & MECH)
Time: 3 hours

(Answer all the Questions 5 x 12 = 60 Marks)

Draw an ellipse having major axis is equal to 100 mm and the minor axis is equal to 70
mm. Use the concentric circle method

OR
The vertex of a hyperbola is 60 mm from its focus. Draw the curve, if the eccentricity
is 3/2. Draw a normal and a tangent at a point on the curve, 75 mm from the directrix.

[UNIT-1I
A point A is 20mm above the HP and 50mm in front of the VP. Another point B is
40mm below the HP and 15mm behind the VP. The distance between the projectors of
the points, measured parallel to xy, is 75mm. Draw the projections of the points. Draw
lines joining their FVs and TVs

OR

Draw the projections of a straight line AB of 70 mm long, in the following positions:
a)Inclined at 30 degree to VP, in HP and one end on VP b) Inclined at 45degree to HP,
one end 20 mm above HP and parallel to and 30 mm in front of VP c) Inclined at 60
degree to VP, one end 20 mm in front of VP and parallel to and 25 mm above HP

e
A regular hexagonal plane of 45 mm side has a corner on HP, and its surface is
inclined at 450 to HP. Draw the projections, when the diagonal through the corner,
which is on HP makes 300 with VP.

OR
Draw the projections of a cone, base 30 mm diameter and axis 50 mm long , resting on
HP on a point of its base circle with (a) the axis making an angle of 45° with HP and its
top view making an angle of 30°with VP.

UNIT-1V]

A pentagonal pyramid with edge of base 25 mm and axis 65 mm long, its base is
resting on HP. A section plane, inclined at 60 degree to HP, cuts it and perpendiculars
to VP at bisect the axis. Draw the projections and obtain the true shape of the section.

OR
A cylinder of diameter of base 40 mm and axis 55 mm long, is resting on its base on
HP. It is cut by a section plane, perpendicular to VP and inclined at 45 degree to HP.
The section plane is passing through the top end of an extreme generator of the
cylinder. Draw the development of the lateral surface of the cut cylinder.

Page 10f2

Max. Marks: 60
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1M
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12M

Q.P. Code: 18MEQ302

[UNIT-V

9 Draw three views of the blocks shown pictorially in figure according to first
angle projection

12M

10 Draw the isometric projection of the frustum of a hexagonal pyramid of base side 12M
40 mm ,top side 25mm,and height 70m=m. The frustum rests on the H?

Page 2 of 2
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

B.Tech I Year II Semester (R18) Supplcmentary Examinations July/Aug 2021

DIGITAL LOGIC DESIGN
(Computer Science Engineering)

Time: 3 hours
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R18

Max.Marks:; 60

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What is meant by parity bit? 2M
Explain DeMorgan’s law 2M
Construct 2:1 multiplexer? 2M
Define Propagation Delay M
Define the Static RAM and Dynamic RAM 2M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Explain the Binary codes with examples? 10M
OR
Design the circuit by Using NAND gales F= ABC’+ DE+ AB’D’ M
Simplify and implementation the following SQP function using NOR gates F(A,R,C,D)- M
>m(0,1,4,5,10,11,14,15)
UNIT-T11
Reduce the expression f(x,y,z,w)=1M(0,2,7,8,9,10,11,15) .d (3,4) using K-Map? 10M
OR
Simplify the Boolean expression using K-MAP 10M
F(A,B,C,D) =>m(1,2,3,8,9,10,11,14) +d(7,15)
UNIT - III
Design a 4 bit adder-subtractor circuit and explain the operation in detail? M
Explain the functionality of a Multiplexer? 5M
OR
Design the combinational circuit binary to gray code? 10M
UNIT -1V
Explain the Logic diagram of SR flip-flop? 5M
Design and draw the 3 bit up-down synchronous counter? SM
OR
Explain synchronous and ripple counters compare their merits and demerits? SM
Design a 4 bit binary synchronous counters with D-flip tlop? M
UNIT-V
Explain about TTL family? M
Explain about memory decoding error detection and correction? M
OR
Construct the PROM using the conversion trom BCD code to Excess-3 codc? 10M
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Code: 18CE0101 R18

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I Year II Semester (R18) Supplementary Examinations July/Aug 2021
ENGINEERING MECHANICS
(ECE)

Time: 3 hours Max.Marks: 60

(a)
(b)
(c)
(d)
)

(b)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Name different system of forces with suitable examples 2M
Define the following M
(a) Limiting Force of Friction  (b)Angle of Friction
Differentiate Centroid and Centre of Gravity and write relevant formulae M
Define (a) Moment of Tnertia  (b) Radius of Gyration M
Bric( the method to find forces in members of truss by using method of joints. M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
State and prove Varignon's theorem. Explain it’s signiticance. 10M
OR
A system of forces are acting at the corners of a reclangular block as shown in Fig.1. M -
Dctermine the magnitude and direction of the resultant force.

50 kN

A simply supported beam AB of span 6 m is loaded as shown in Fig. above. Determine the
reactions at A and B,

UNIT - 11
A body, resting on a rough horizontal plane, required a pull of 180 N inclined at 30° to the 10M
planc just to move it. It was found that a push of 220 N inclined at 30° to the plane just
moved the body. Determine the weight of the body und the coelTicient of friction.

OR

Two blocks Wiand Wz resting on two inclined planes are connected by a horizontal bur 10M
AR as shown in Fig.below. If W1 is equals 1000 N, determine the maximum value of W»

for which the equilibrium can exists. The angle of limiting friction is 20° at all rubbing
taces
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9.
10. (a)

(b)
11.

o bl M

2

e

T fi— 120 mm ——)-I
Figure above shows the cross-section of a cast iron bcam. Determine the moments of
inertia of the section about horizontal and vertical axes passing through the centroid of the
seclion.

UNIT -V
What is a cantilever truss? How will you find out its reactions? M
State the assumptions made in the analysis of pin jointed trusses.
20 kN , M
B
.

'\\

~
60° (') }\\_‘
c res

f—8m——p—am —pl
Ra 10 kN Rp
Determine the forces in all the members of the truss shown in Fig.above
OR .
A plane is loaded & supported as shown in fig. below. Determine the nature and 10M
magnitude of the forces in the members 1,2 and 3.

—
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech I Year II Semester (R18) Supplementary Examinations July 2021
MATHEMATICS - 11
(Common to All)

Time: 3 hours Max.Marks: 60
PART-A
(Compulsory Questions)
. Answer the following; (5 X 2 = 10 Marks)
(@) Find the Integrating Factor (I.F) of xﬂogx% + v = 2logx. M
2 N —3x
(6 Find Particular Integral of (D" +6D+9)y =2e M
(C) 7 sin 6 2M
[rardo

Evaluate © ©

d = 2 M
@ Show that f(2)=z is analytic [unction.
(e) State Cauchy’s residue theorem 2M
PART-B
(Answer all five units, S x 10 =50 Marks)
UNIT -1
2. (@ Solve (x + 1)%—y= ¥ (x+1)% M
®)  Solve :—i(xzyg +xv) =1 M
OR
3. (@ Solvey =2px+p". 5M
(b) 2fdy 2 dy .2 _ SM
Solve x (dx) txy_——6y° =0
UNIT -1
4. (@ Solve (D*+2D* + D)y =x° M
(b) 2 2 SM
Solve d ¥+lﬂ= __Izl(:gx
dx”  xdx b
OR
5. d’y 10M
Solve in series the equationT +xy=0
2
UNIT - III
6. (a)  Show that the area between the parabolas v = dax and x% = 4ay is Z—Dcz:. M
(b) Evaluate the integral by transforming into polar coordinates 5M
a '\/Ul*.\’2
I _[ yAlxt + ytdxdy .
0 0
OR
7. L A1=x? JI-x2-y? dedydz . 10M

Evaluate j‘
]

'([ -\/I—.x'z—yz—-::
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" Q.P. Code: 18ME0303

Time: 3 hours

10

11

(AUTONOMOUS)

B.Tech I Year II Semester Supplementary Examinations July/ Aug 2021

MATERIALS ENGINEERING
(MECHANICAL ENGNEERING)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What are cermets?

o
~—

b) What is cryogenic treatment?

c) What are the classifications of the steels?

d) What is Phase? What are different types of phase diagram?
e) Give a brief note on intermediate alloy phases

PART-B
(Answer all Five Units 5 x 12 = 60 Marks)

What are the Mechanical and Technological Properties of Engineering Materials?

OR
a) Give a brief note on intermediate alloy phases.
b) Explain the Electron compound?

NIT-II

What are the eutectoid and eutectic reactions in Cu-Ni & Al-Cu binary phase

diagram?
OR
a) Explain the phase transformation in solid state.
b) Draw an equilibrium diagram for an isomorphism system
UNIT-III

Explain the structure and properties of Aluminum and its alloys?

a) Explain briefly on Carbon Steel.
b) Write a notes on Low alloy Steel.

;
-

a) Explain the toughness .How it is measured and explain their types?

b) Explain the Hardness. How it is measured and explains their types?
OR

What are heat treatment processes? Explain briefly

NIT-V

a) Enumerate the difference between the particle and Reinforced composites.

b) What is ceramic material? Explain crystalline ceramics.
OR
What is composite material? How is it classified? Give short notes.

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR

Max. Marks: 60
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year II Semester (R18) Supplementary Examinations July 2021
DIGITAL ELECTRONICS
(EEE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Why NAND and NOR gates are called as universal gates?
Give applications of multiplexers
Differences between latch and Flip-flops
Define Noise Margin
what size of ROM required for the design of full adder
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Convert BCD code to 5421 and 84-2-1 code
State and prove the De-Morgan’s theorems
OR
What is the difference between 1's and 2’s compliments? Give one example.
Do the following conversions
i) (144)s=( )6  11)(225.25)s=( o
UNIT - 11
Simplify the given Boolean function using K-Map

F(a,b,c,d)=> (1,3,5,7,911,13)
Explain basic operation of De-multiplexer
OR
Realize full subtractor using half subtractors.
Design 3x8 decoder by using basic gates
UNIT - 111
With a neat logic diagram explain basic operation oh JK-FF and T-FFs
OR
Design MOD-10 synchronous counter using D-FFs
UNIT - IV
Define Fan in and propagation delay.
Realize 2-Input NOR gate using CMOS logic
OR
Describe the operation of 3-input TTL NAND gate
Difterences between ECL and CMOS logic
UNIT -V
Differences between RAM and ROM
Write a short note on Content addressable memories (CAM)
OR
Describe the architecture of PAL, PLA and ROM

R18

Max. Marks: 60
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Code: 18EC0407 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:

PUTTUR(AUTONOMOUS)
B.Tech II Year II Semester Supplementary Examinations July 2021
ANALOG CIRCUITS
(ECE)

Time: 3 hours Max. Marks: 60

PART-A

(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

L. (a) Define cutoff frequency f, and write down its expression 2M
(b) State and give the significance of Barkhausen criterion foroscillation. 2M
(©) Explain stagger tuned amplifier 2M
(d) Define CMRR and give its significance. 2M
(¢) Define Settling time of a DAC/ADC 2M

PART- B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1

2. (a) Draw the Hybrid-pi model and explain the significance of each and every 5M
component in it.
(b) Explain the effect of cascading on bandwidth of multistage amplifier. 5M
OR
3. (a) With diagram, derive the expression for current gain and input resistance of 6 M
Darlington
amplifier

(b) If the overall lower and higher cutoff frequencies of a two identical amplifier 4M

cascade are 600 Hz and 18 kHz respectively, compute the values of individual

cutoff frequencies of both the amplifier stages.
UNIT -1I

4. (@ What is the advantage of using Wein bridge oscillator and describe its 8 M
working principle. Also derive the expression for frequency of oscillations.
(b) An amplifier has voltage gain with feedback of 100. If the gain without 2M
teedback changes by 20% and the gain with feedback should not vary more than
2%, determine the value of open loop gain A and feedback ratio p.

OR
5. (a) Explain the General analysis of an LC Oscillator. 8M
(b) In a Colpitts oscillator, C1 = 0.2 uF and C, =0.02 uF. If the frequency of 2M
oscillation is 10 kHz, find the value of inductor.
UNIT - III
6. (a) Compare the different types of tuned amplifiers. 4M
(b) 6M

A series fed Class A amplifier shown if the Figure, operates from dc source.
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Code: 18CS0511

Time: 3 hours

10.

11.

(a)
(b)
(©)
(d)
(e)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year II Semester Supplementary Examinations July/ August 2021
OBJECT ORIENTED PROGRAMMING
(CSE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

List some java buzzwords?
Explain about constructors?
What is an Exception? Explain types of Exception?
Define Generic?
Explain about Layout Managers?

PART-B

(Answer all five units, 5 x 10 =50 Marks)

UNIT -1

Explain about the Iteration Statements with an example.
OR

Write a Java program to interchange the values without using third variable.

Write a Java program to use Bit-wise operators.
UNIT - 11
What are the varargs in java? Write the syntax and develop any program.
What is Inheritance? Explain types of inheritances.
OR
Write a java program to find the factorial value of the given number using
user
defined package concept.
UNIT - III
Write a java program to create own exception for NegetiveValueException if
the
user enter negetive value.
OR
Write the difference between String and StringBuffer classes.

Write a java program to sort the given names into ascending order.
UNIT - IV
Write a java program to develop Login Window using AWT.
OR
What is an Applet? Explain life cycle of an applet.
Write a java applet program to display Smiley Face on the Applet.
UNIT -V
What are the different JDBC drivers explain with syntax.
OR
What are the different JDBC Drivers used to connect with database.
Explain about JDBC-ODBC architecture with a neat diagram.

R18

Max.Marks: 60
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Code: 18HS0803
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

R18

B.Tech II Year II Semester (R18) Supply Examinations July/Aug 2021

BIOLOCY FOR ENGINEERS
(Common to CSE & ECE)

Time: 3 hours

10.

11.

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
(@) Define biology?
(b) What is cell cycle?
(c) Write any four functions of proteins?
(d) What is complimentary on ?
(¢) What are the two purines & Pyramidines of DNA?
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Write the differences between Plant cell and Animal cell.
OR
Describe Amminotelsim and Uricotelism.
UNIT - 11
Explain Meiosis with diagrammatic representation.
OR

What is Mitotic Cell division? Explain Mitosis with neat diagram.

UNIT - III
What are carbohydrates? Classify and explain mono saccharides
OR
Define polysaccharides with suitable examples.
UNIT -1V
Explain & Describe the R-DNA technology methods?
OR
What are the [unclions & Structure of Proteins?
UNIT -V

Give an account on energy yielding and energy consuming reactions?

OR
Explain about classification and identification of micro organism

Max.Marks: 60

2M
M
M
M
M

10M

10M

10M

10M

10M

10M

10M

10M

10M

10M






31

NS

NS

0L

WOT

WOt

oL

TUBDYJI0D

Swdure( (a1) 10305 Surdurep (m) Juswaiep srunpiLredor (o) sssupns Jurds ay

(1) SUTULISIR] "SUONEIIOSO G Jale Sn[eA [enul oy Jo 6Z°( 03 saseanap spnyqdure

9] 'SPUOXS Q] Ul Saseaiddp opmyndune ], 'SpUODSS Q[ Ul SUOHE[IISO

0¢ soxyew 3Yg jo ssewr papuadsns e waisAs uoneiqia padurep jo s9132p omy uy
d0

USWIRIRP druyiredof (1) 1030ey Jurdurep (1) “purg zHe'Q 29 01 paAIasqo

sem uoneiqia padurep jo Aousnboy oy ‘popraoid st Surdurep s usypm

-3urdurep ou st 2151 UBYM zZHT Jo Lousnbsy e Pim $3jRIqIA JUSWNOSUT Uy

"sseus papuadsns pue 19]J9 LRISUT S ‘SSSUJLS

Bunds jo swiay ur uoneIqIA TPUTPMTSUO] 3913 3] 10§ UoISsaIdxe a1 dNpa(g

A-1INN

‘aJuepeq a9[dwod

ur 3q Lewr =wBus ayj 1eY) JOpIO I sURD A jo uonisod ren3ue aapeE1 pue

12pur £ panp s 105 spred Guneoordivar g Jo sseur oy purg *Apanpedsar og

pue 35093405 a1e sassew Sunesordpal 1By pue Yuen pIng ap Jo 1Bl Woy

£Pandadsa1 unuIgz pue WUIg)Z U ST SYUEID (PIMo} pue puocoas ‘Is1y Iy

jo uoneio1 o auerd ayy, “Buoy wmwggT syueD sey aurdus TednIaa JApurh> Imoy
(o)

MO[(q DUIUIRE]

(m) ardno> Gurfems (m) 20105 2amdeme jo uopenep (1) awSue SAROWIOIO[

1BpuUrA> om) ut Jupurereq rensed jo sag5e jo uorssaadxe Fumoroy 2 AL

Al- 1LINN
¢ 9d 4y [jawyrey woyy sotrea
51 MOY pue uolssaIdxd oY) aALIp “IoutaA03 pafjornucd Surids Sunyrer] urerdxg
(o)
"PEO[ Jorw)(1 ST [Teq

91 JO SNIPEI WNWIITW dY) UsYm SIXE 3 03 [offered pue Suof unmpg ypoes sre

SYUI[ 19MO[ S JO SULIR UOISUDIXa U1, B0Z ST 3A33[S SY] UO SSEW [LIJUSD S pue

3% st [Teq Yoes Jo sseur 3y ], "UoNL]01 JO SIXE 3N} Ua papraoid are pue wwpQz jo

1pea suwre fenbs sey yongm “Toumaos [jpoid e jo paads wnuruma sqy 3jermoeD
ITT - LINN

@
(®)

jis

o

WG STIT I9ISUerp eIl WUIN)Z PUe I9I1SUTeIp [EWRIE URUGI) Pey ynnp auod vy (q)
. Burecg
WS 343 JO BUO0 AU JesM ULIOFIUT PHE 3INSS31] WLIOJTL() J0] worssaidxa awp oata (&)
:lo)
*ssetr umo st Setpnpw ‘aed swg ut parmbax
st 8Y0¢ jo ssewr v uoym panrsuer] omod S pury UNUQGZ Se 2dUB)SIP
e |e ST 1oA9] 3 uo ured BuryBeom oYy "Yoes umiyg OS[e ST WnOMy S} WOl
sA3nd SjeTpaWLBIUT AU JO SXURISTD ajuad Ay, ‘ummgg si wdigog] 1e Junetcr
WS £ormd Sutanp au jo mjPuUTerR S JlFEIOUTRUAD WOISSTWISIRT) JPg [E03PA B U] (q)
WG =wowreudp ad4} uondiosqe jo uonoung urerdxy  (e)
II- 1INN
“YEYS HLED A} U JUSWOoW
Zununy aamdayye ayr(mhoge wd-yuerd(r)sremoredsza/NYog st uoisid
alp aaoqe amssard wreas s DIl WOLJ,GZL PIUIN] Sey YUeD S U,
“3uoy wig' s1 po1 SundeunIod 3y IePurerp wIge st pol uolstd Sy pue ) [orra
§o ssew e sey spred Sunedordoar ayjwdiggz Fe sunt pue aons umugck
WOL  Pue IPUrElp anup)g Pputfdd e sey aurdus wesis Sunoe J[qrop [eoniaa v
h: (o)
- £313u5 Jo uoRENION]J JO USDIFAO)) ‘7 AZIOU3 JO UOHENION]) LIOUIIXEIA
pug uoy ‘wdicey e MG sdopaspuresis @ pue 3Nopeg S1 PYMAY
I} JO SSEUI 3] J] ‘PAYMAY 93 Jo pIads ueswr U JO % [ P3VIX3 0} Jou 51 paads
0 uoyenPNY pue IBull st 93y A & Jo uonerf3 jo snrper sy (uriious
WOL  # uoyenN[ Jo JULPY0d pue paads jo uopempny jo JUSPLYIIOS Suya(]
I-1LINN
(SRR 0S= (T X G ‘Sirun 2aY [fe Jomsay)
q-13vd
WZ Burdurep »31ey pure Surdwrep eouro sy paysmSumsic )]
INT ¢saumyrew Supueleq jo sodA) ppyp s arejeym  (p)
WZ {SI0.IRA03 JO ssaUPANISUAG Aq Juesw sTieyM (0
W Y2 SUOD pue YPIN ISP [N equaRyk]  (q)
NT £313us jo uoyEnPN[ Jo JuIDYe ¢ dugaq  (v)
(s3I 01 = T X €) Burmo[joy 2y 1msuy .
(suomsang) Lrosindwo))
V-1avd
09 [SYIe]y "XeN SINOY ¢ DUIL],
(=)
SHNTHOVW 40 AJOFHL
120C 30y /A suoneunuexq Areyuoaaiddng (373) 193sawag [ 1eax [1 YRoL d
(SNOKONOLNY)
ANLIN ‘ADDTONHOHL ANV TONHIDS 40 A1LNLUSNI VHINVAJIS
ST OTSOFNST 3poD

Team “wIoyium ynam Sunejor
yeys 1epsuc) Seid sy 03 W sukboy Tejo) auTuLIzIap MYE SeM JjeYs ) Ul 3S0]
1amod-umu /N 80 se aoepns ajerd aej pue iyeys au) 03 ur airssaxd Srsuoym
[EWION 06 se a[due ruag “widr gz Jo paads ym yeys oy £q peyioddns






Code: 18EC0403 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech Il Year II Semester (R18) Supplementary Examinations July/Aug 2021
SIGNALS & SYSTEMS

(EEE)
Time: 3 hours Max. Marks: 60
PART-A
(Compulsory Questions)
1. Answer the following; (5 X 2 = 10 Marks)
(a) Define Unit impulse and Unit step Signals 2M
(b) Differentiate the Fourier series and Fourier transform M
(c) State the Sampling theorem M
(d)  List the properties of cross cortelation for energy signals M
™ (e) Label the Z-transform of unit step signal M
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Infer the even and odd components of the following signals M
(1) x(t)= ejae (i) x(t) =(1+t2+t3) cos210t (iii) x(n)={-3,1, 2, -4,2} (iv) x(n)={5,4,3,2,1}
(b) Skelch the following signals SM
(1) 2 u(t+2)- 2 u(t-3) (i) u(t+4) u(-t+4) (iii) r(t)-r(t-1)-r(t-3)-r(t-4) (iv) m(t-2)
OR
3. (a) Ildentity the following systems are causal or not? SM
DyO=x2(ty+x(t-4) (ii) y(O)=x(72) (ii))y(n)=x(2n)
(b) Ilustrate whether the following systems are stable or not M
(1) y(t)= (t+5) u(t) (ii) y(t) =(2+e-3t) u(t) (iii) h(n)=an for 0<n<11
UNIT - II
4. State and prove the properties of Continuous time Fourier transform 10M
OR
5. (a) Derive the expression for Fourier transform from Fourier series M
(b)  Find the Fourier Transform of the Signal (i) Triangular Pulse (ii) el M
UNIT - III
6. (a) Explain the Filter characteristics of linear systems explain with neat sketches M
(b)  Define the following (i)Impulse Response (ii)Step Response (iii) Response of the System M
OR
7. (a) Derive the transfer function and impulse response of an LTI systcm SM

(b) Let the system function of an LTI system be 1/(jo+2). What is the output of the system for an  5M
input (0.8)tu(t)?

UNIT -1V
8. (a) Explain the properties of convolution M
(b) Derive the relation between convolution and correlation M
OR
9. Explain the extraction of a signal from noise by filtering. 10M
UNIT -V
10. (a) Discuss the Propertics of ROC of Laplacc transform M
(b) Find the inverse Laplace transform of the following M
(DX(s) = 1/s(s+1) (s+2) (st3)  (ii) X(s)= (3s2+225+27)/(s24+35+2)(s2+25+5)
OR
11. (a) State and prove initial and f(inal value theorems of Z-transform M

(b) Tind the inverse Z-transform of X(z)=z 1/( 3-4z 1+z 2), ROC: |z>1 M
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Code: 18EE0207

Time: 3 hours

10.

11.

(a)
(b)
(©)
(d)
(e)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year II Semester Supplementary Examinations July/ August 2021
ELECTRICAL MACHINES - II
(EEE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What are the possible of Three Phase Transformer Connections
Define slip of induction motor?
What is meant by crawling?
Define load angle and phase angle
What is meant by synchronous phase modifier
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
A three phase step down transformer is connected to 6600 volts mains and it
takes 10A. Calculate the secondary line voltage, line current, and output for
the following connections
(i)Delta -Delta (ii) Star-Star (iii) Delta- Star (iv)Star-Delta
OR
Explain Open delta operation of 3-phase transformers with neat sketch
UNIT - 11
Explain the production of rotating magnetic field and prove that resultant
flux is equal to 1.5 times of maximum flux with phasor diagrams
OR
Derive the expression for starting torque, maximum torque and hence obtain
the value of maximum torque of a 3-phase induction motor.
UNIT - I1I
Explain the procedure to construct circle diagram to find performance
characteristics of three phase induction motor.
OR
Explain the pole changing speed control method of 3-phase IM with neat
diagram
UNIT -1V
Explain the principle of operation of synchronous generator and draw its
equivalent circuit.
OR
Explain the steps involved to find Xd and Xq from Slip Test
UNIT -V
What is meant by synchronization of alternators? Discuss any two methods
of synchronization of alternator
OR
Briefly discuss about the starting methods of synchronous motor with
suitable diagrams

R18

Max.Marks: 60

2M
2M
2M
2M
M

10M

10M

10M

10M

10M

10M

10M

10M

10M

10M






Code: 1SME0309
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)

R18

B.Tech II Year II Semester (R18) Supplementary Examinations July/ Aug 2021

THERMODYNAMICS
(MECH)

Time: 3 hours

10.

11.

(@)
(b)
(c)
(d)
(e)

(a)
(b)

(a)
(b)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)

Max. Marks: 60

Explain the term cyclic process 2M
Define thermal efficiency of a heat engine cycle. 2M
What is Boltzmann constant? 2M
What is critical state, critical pressure, and critical temperature? 2M
What do you mean Irreversibility? 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Classify the differences between heat and work transfers? 5M
Compare the cyclic process and non-cyclic process 5M
OR
What is quasi static process ? Explain in detail. 5M
Explain about Heat transfer 5M
UNIT - 11
Define Heat, Temperature and concept of thermal Equilibrium. 5M
Recall short notes on concept of change in entropy. 5M
OR
Gives an expression for entropy changes for open systems. 5M
Explain zeroth law of thermodynamics. 5M
UNIT - 111
How the partial pressure in gas mixture related to mole fraction? 5M
What is a polytrophic process? 5M
OR
Recall a short note on a) Equation of Ideal gas b) Avogadro laws. 10M
UNIT -1V
Develop an expression for air standard efficiency of dual combination cycle. 10M
OR
Develop the expression for air standard efficiency for diesel engine. 5M
Recall a short note on dryness fraction. 5M
UNIT -V
Explain with neat sketch of super Economizer in boiler accessories. 5M
Give the comparison between fire tube and water tube boilers. 5M
OR
Explain with neat sketch of super heater in boiler accessories. 10M






Code: 18HS0812

Time: 3 hours

10.

11.

(@)
(b)
(©)
(d)
(e)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year II Semester Supplementary Examinations July/ August 2021
MANAGERIAL ECONOMICS AND FINANCIAL ANALYSIS
(ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
What is Managerial Economics?
Define the law of demand
What is market?
Write a short notes of working capital
What are the types of accounts
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
What is Demand and what are factors governing of demand.
OR
What is Elasticity of demand and its types of Elasticity of Demand
UNIT - 1I
Define Break-even point with graph and state the assumptions.
OR
Define economics of scales and diseconomies of scales

UNIT - I1I1
What are different methods of pricing followed by companies?

OR
What is meant by economic liberalization, economic privatization and
globalization
UNIT -1V
The cost of a project is Rs.50,000 which has an expected life of 5 years. The
cash inflows for next 5 years are Rs.24,000; Rs.26,000; Rs.20,000; Rs.17000 and
Rs.16,000 respectively. Determine the Payback period.
OR
What is meant by working capital and working capital cycle?
UNIT -V
Write short notes on Inventory turnover ratio
A firm sold good worth Rs.5,00,000 and its gross profit is 20% of sales value.
The inventory at the beginning of the year was Rs. 16,000 and at the end of
the year were 14,000. Compute inventory turnover ratio and the inventory
holding period
OR
Write about various types of accounts and their rules governing each
account.
Mention the advantages of double-entry book-keeping.

R18

Max.Marks: 60

2M
2M
2M
2M
M

10M

10M

10M

10M

10M
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10M

10M
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SM

5M
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Code: 18EC0408

Time: 3 hours

10.

11.

(a)
(b)
(c)
(d)
(e)

(a)
(b)

(a)

(b)

(a)
(b)

(a)
(b)

(a)
(b)

(2)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

(a)
(b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech Il Year I Semester (R18) Supplementary Examinations July 2021
ANALOG COMMUNICATIONS
(ECE)

PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Explain different types of modulation?
Differentiate between Phase Modulation and Frequency Modulation.
Classify types of noise.
Define Pulse amplitude modulation.
Define Fidelity.
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Why VSB Modulation is used, identify the merits and applications.
Develop total transmitted power equation.
OR

With relevant expressions and waveforms, summarize the generation of AM wave using

Switching Modulator.

List out the advantages of AM wave.
UNIT - 11
Mention the properties of FM.
Give Comparison of FM and AM, PM and FM.
OR
Give Comparison of FM and AM, PM and FM.
Compare Wide Band FM and Narrow Band FM
UNIT - III
Explain External noise in detail.
Summarize Thermal Noise/ Johnson’s noise.
OR
Analyse time domain description of SSB wave.
Generate DSB modulation, with the help of block diagram.
UNIT -1V
Classify Pulse Modulation.

Elaborate modulation and demodulation technique for PPM with neat diagrams?
OR
With a help of block diagram explain Frequency Division Multiplexing.
With a help of block diagram explain Time Division Multiplexing.
UNIT -V
Explain Sensitivity, Selectivity, and Fidelity.
Brief Entropy with necessary equations.
OR
Draw the block diagram of Super-heterodyne AM receiver.
Explain Shannon coding, with an example.

R18

Max, Marks: 60

M
M
M
2M
2M

6M
4M

4M

5M
M

5M
5M

6M
4M

5M
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SM
5M

5SM
5M

M
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Time: 3 hours

TEARSE
Largl

3. (a
(b)

4. (@
)

6. (a)
(®)

R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: FUTTUR
(AUTONOMOUS)
B.Tech II Year II Semester Supplementary Examinations July 2021
POWER ELECTRONICS
(EEE)
Max. Marks: 60
PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks) 2M
Define Latching current and holding current 2M
Explain Peak inverse voltage of Thyristor 2M
What is meant by step-down chopper? 2M
What is meant by PWM control? 2M
Explain modulation index 2M
PART- B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Briefly explain about insulated gate bipolar transistor (IGBT) and it's switching 10M
characteristics.
OR
With neat block diagram explain the RC firing circuit 5M
Explain V-1 Characteristics Of SCR 5M
UNIT - II
Explain the operation of Three phase fully controlled rectifier with R load 5M
Derive the average and RMS load voltage for three phase fully controlled 5M
rectifier with R load.
OR
A single phase half wave converter is operated from a 230V, 50Hz supply. If the 10M
load is Resistive of
value 10 ohms and firing angle is 600 Determine
i) the rectification efficiency ii) form factor iii) ripple factor
iv) Transformer utilization factor v) Peak inverse voltage of thyristor.
UNIT - IIT
What is a dc chopper? Describe various types of chopper configurations 6M
Derive an expression for its average dc output voltage. 4aM
OR
The boost converter has an input veltage of Edc=5V.the required average 10M

output voltage is E0=15V And the average load current [0=0.5A. The switching
frequency is 25 kHz. If the L=150pH and C=220pF, Determine,

(a) the duty cycle (b) the ripple current of inductor Al (c) the peak current
of inductor 12, (d) The ripple voltage of filter capacitor AVC, (e) the critical
values of Land C.

10.

11.

UNIT -1V
Explain briefly sinusoidal pulse width modulation with neat diagrams
OR
Analyze the single-phase half bridge Voltage Source Inverter and perform
steady state analysis?
UNIT-V
A 1-@ full bridge inverter has RLC load of R=4Q , L=35mH and C=155pF.The
dc input voltage is 230V And the output frequency is 50Hz. (a) find an
expression for load current up to fifth harmonic .also Calculate (b) RMS value
of fundamental load current, (c) the power absorbed by load and the
fundamental power , (d) the rms and peak currents ofeach thyristor.
OR
A 1-@ half bridge inverter has a resistive load of R= 3Q,and the d.c input
voltage Edc=50V .calculate ))RMS output voltage at the fundamental frequency
El. (ii) the output power PO (iii) the average and peak current of each thyristor
and (iv) the peak reverse -blocking voltage of each thyristor.

10M

10M

10M

10M






Code: 18EC0409 R18
SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS) . ~ UNIT-1V
B.Tech II Year II Semester Supplementary Examinations July 2021 8. State and prove Wiener -Khintchins relations 10M
Probability Theory and Stochastic Processes . . OR
(ECE) 9. (a) Discuss the properties of CPSD?. 5M
Time: 3 hours Max. Marks: 60 (b) The auto correlation of a WSS random process X(t) is given by Ryx(z) = 5M
PART-A Acos(weT) where A and w, are constants. Find PSD?.
(Compulsory Questions) UNIT -V
1. Answer the following; (3 X 2 = 10 Marks) 10. (a) Derive the relation between PSDs of input and output random process of an LTI  5M
(a) How do you know two events are independent or not. M system.
(b) Write statement of Central Limit Theorem. M (b) Discuss about cross correlation between the input X (t) and output Y (t). 5M
(c) Whatis ergodic random process? M OR
(d) Define Power spectrum. M 11. Write short notes on: (i) Band Pass random process. ii) Band limited random 10M
(e) Expression to find mean value of LTI System response. 2M process  (iii) Narrow band random process.
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
2. (a) Define axioms of probability. Also define probability as a relative frequency. 5M
(b) When two dice are thrown, determine the probabilities from axiom3 for the 5M

following three events
i) A= {sum=7} ii) B= { 8< sum<11} iii) C={10<sum}

OR
3. (a) Define a Random variable? Explain about probability distribution function with  5M
properties?
(b) let X be a continuous random variable with density function 5M
x
\NARV” m._.w\ 0<x<6
0, otherwise
i) Find the value of ‘k’ ii) find P(2<x<5)
UNIT-1I
4. (a) Explain about Joint distribution & density function? And discuss its properties?  5M
(b) If the joint Pdf of two dimensional random variable (x, y) is given by: 5M

£X,Y(xy) =kxy; O0<x<y<1
=0 ; otherwise
Find the ‘K’ value and marginal density function of X and Y.
OR

5. (a) Discuss about the Sum of Two Random Variables? 5M
(b) Statistically independent random variables X and Y have densities 5M
fr(x) = 5u(x)e™*, f,(¥) = 2u(¥)e™?Y. Find the density of the sum W= X+Y
UNIT - II1
6. (a) Explain about first order, second, wide-sense and strict sense stationary 10M
process.
OR
7. (a) Explain about mean-ergodic process. 5M
(b) If x (t) is a stationary random process having auto correlation function: 5M

Ryx(1) = 9 + 2717l | Find the mean and variance of the random variable.
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PART-A
(Compulsory Questions)
Answer the following; (5 X 2 = 10 Marks)
Write about Cast iron
List the classifications of rocks
Define Distemper
What do you mean by soundness of aggregate?
Write about light weight concrete
PART-B
(Answer all five units, 5 x 10 =50 Marks)
UNIT -1
Classify the bricks and explain the working of Hoffman’s kin for the burning
of bricks
OR
Explain various types of seasoning of Timber
What are the characteristics of good timber and its common uses in building
industry?
UNIT - 1I
Write about manufacturing of ordinary cement.
OR
What are the defects in paint and explain any five of them?
UNIT - 111
Describe briefly the classification of tar and the specifications of bitumen as a
building material.
OR
Describe tests and testing of bitumen?
UNIT -1V
Explain in detail the slump test with the help of a neat sketch. Discuss its
merits and limitations
OR
Write about mixing and vibration of concrete?
UNIT -V
Explain plastic deformation of metals and Tensile test?
OR
Write about strength of ceramic and internal friction of material?
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